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>

;> restart
| CASO I

Ecuacion = y"-4y'+4y=0

Ecuacion =

EcuaCarac i=m--2 —4m+4

2
ﬁy(x) 4 (g y00 )+t =0

=0

EcuaCarac = m2 —4m+4=0

Raiz := solve(EcuaCarac)

Sol, == y(x) =exp(Raizl -x)

Sol, == y(x) =x-exp(Raizl-x)

Raiz =2,2

Sol, == y(x) ="

Sol, :=y(x) =x 2~

SolucionGeneral := y(x) = Cl-rhs(Soll) + Cz-rhs(Solz)

SolucionGeneral .= y(x) = C, e? 4 Cyx >

comprobacion = simplify(eval(subs(y(x) =rhs(SolucionGeneral), Ecuacion)))

comprobacion :=0 =0

SolGral :=y(x) = CI ezx+_C2 e* x

> SolGral = dsolve(Ecuacion)
;> restart
| CASO I

> Ecuacion = y"+y'+y=0

Ecuacion :

2

=05 50+ ) 40 =0

_> EcuaCarac i =m--2 +m+1=0

EcuaCarac = m2 +m+1=0

_> Raiz = solve(EcuaCarac); evalf (%, 3);

N S I S
Raiz : +21\/T, ) 21\/?

2

-0.500 +0.865 L, -0.500 — 0.865 I

-x) -sin(Im(Raizl) 'x)

SolucionGeneral :=y(x) =

=> SolucionGeneral := y(x) = Cl-exp(Re(Raizl) -x) -cos(Im(Raizl) -x) + Cz-exp(Re(Raizl)

1

1
e oo L T 2L (1 =
1€ coS 3 x +Cze sin 3 x

2 2

> comprobacion = simplify(eval(subs(y(x) =rhs(SolucionGeneral), Ecuacion)))

comprobacion :=0 =0
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